
 
Product Information Packet 

089025 
HD-250X18-TUFR

Copyright © All product information within this document is subject to Baldor Electric Company copyright © protection, unless otherwise noted.



Page 2 of 3                                

                                                                  Product Information Packet: 089025 - HD-250X18-TUFR

Specs

Angle Size: 4 X 4 X 3/8

Material Type: CARBON STEEL

Screw Type: ACME

Take-Up Frame Style: HEAVY DUTY

Screw Treatment: ZINC PLATED



Page 3 of 3                                

                                                                  Product Information Packet: 089025 - HD-250X18-TUFR

Parts List

Part Number Description Quantity

089002 HD-250 BRG SADDLE 1.000 EA

089006 HD-250 BOTTOM PLATE 1.000 EA

089010 HD-250 END BASE 2.000 EA

089086 HD-250X18 SCREW ASSY 1.000 EA

089054 HD-250X18 SUPPORT ANGLE 1.000 EA

407093 5/8 11NC REG HEX NUT 4.000 EA

407095 3/4 10NC REG HEX NUT 2.000 EA

411123 5/8-11NCX1 3/4-BRIGHT HE 8.000 EA

411144 5/8-11NC X 3-1/2 BRIGHT HX HD CS 4.000 EA

416221 3/4-10 X 3 3/4 SQ HD MACH BOLT 2.000 EA

416229 3/4-10 X 5 SQ HD MACH BOLT 2.000 EA

419082 3/4 SAE FLT. WASHER 2.000 EA

457730 L56 .035 44# FIBERSPOOL 0.150 LB

MG1025N19 MUNSELL 8.5BG 3.57/2.0, GLOSS 30, B/G, 0.019 GA

MJ5003A21 HAPS FREE UNIVERSAL THINNER #125 0.004 GA

498121 X121 LABEL-ID LABELS 1.000 EA

407010 5/8 11NC REG SQUARE NUT 8.000 EA


